BRACKET FOR LG IP 49

nnnnnnnnnnnnn

1108 LANDSCAPE
1048

280
301

576
490
368

1108 SCREWS BAG
| | [A] c]
— (—]
af- = 2 =
(x4) (x4) (x8) (x1)
PORTRAIT SOCKET ASSEMBLY
15
- T
e o |Iﬁ OD@; j
? 246 | 271 Cf
§ (o] O
: . !
D 0| 0
SIET D : =
Nl &) H]
: :
P T oL
i ® ' Ej]
L 490 f
576

82
"
i

I

USE 4 HOLES ABOVE AND 4 HOLES BELOW FOR WALL FIXING (INDICATED IN RED).

ATTENTION DANGER

ANCHORS ARE NOT SUPPLIED.
THE ANCHORS MUST BE CHOSEN BY THE INSTALLER ON THE BASIS OF THE FIXING WALL, THE
INSTALLATION PLACE AND THE WEIGHT TO BE SUPPORTED.
THE MANUFACTURER IS NOT RESPONSIBLE FOR INADEQUATE FIXINGS.




N BRACKET FOR OH49

nnnnnnnnnnnnn

i ~—SCREW TORX M6x30
I

B

SCREW TORX M6x30 \
\ ]
S
S
4
CAUTION ASSEMBLY WITH AT

USE THE SAFETY CLOSURES LEAST TWO PEOPLE
INDICATED ONLY WHEN THE

PERIMETER COVERS WILL NOT BE
MOUNTED

H e SCREW TORX M6x30

| u/ N
\/ CAUTION ASSEMBLY WITH AT

LEAST TWO PEOPLE




BRACKET FOR OH49

COVER ASSEMBLY ( OPTIONAL )

SCREW M6x16 +
WASHER @ 6

I700.0020000020200009200092323TIITII
e s s T

e R Rt

M4x12

il

Il

Il
TORX SCREW/

7 A A A AT A AT AT T
Poro oo
o e et g e e e e
o e e e e
S e e T ST S T TSI




	Page 1
	Page 2
	Page 3

